* WERHM - TS Bt R RE
* PEERRAER
* LB PR SERER (BAEE)

PSRN TAF (AR
CY1RZ&3F (06~063)

Mﬁ*ﬂ*ﬁ' 1MPa = 10.2 kaf/cm?
#2 (mm) 6 | 10 [ 15| 20 [ 25| 32 | 40 | 50 | 63
Hi a5
R A
AL & 77 1.05 MPa {10.7 kgf/cm?}
EEEAE 0.7 MPa {7.1 kgf/cmz}
BAEREND 0.18 MPa {1.8 kgf/cmz}

FER PR E -10 ~ +60°C

YEEEE 50 ~ 500mm/s

£ 0 ¥ 15 e 2B

AN 0~250:+19, 251~1000:+1%, 1001~:+1
1B TEE

HEOR M5x08 | Rc(PT)% | Rc(PT)

* LR R TRRZERETE TR (EhAME) - ReEEEEN 300mm/s LT -

o IIEEEBEHE AR 1 SISO VG32 -

o
= iT 85564
BSkE et e
1) FREELR 1 15 479 © 300 » HRE -
[EREEYE  CY1R15H-300
ME#TE : CYIR H -[300 2 FFRATR 125+ 1R 1 500+ My -
[EREEE  CY1RG25H-500
BwEHA 752 ' N
TR / BT Rk
T s - friEmd pee e P
- By L E g R IeT B
G iﬂl%% . FRIETE (mm) - 5 B X
* FsE B 06 G177 o (mm) TREREIETT R | BRI R
1 6 |50, 100, 150, 200 300 300 D-A90L
6-26mm 10 |50, 100, 150, 200, 250, 300 500 500 D-A93L
50, 100, 150, 200, 250, 300, 350
- 1 o 100 197, 208, 298, 5L, 990, 1 7 D-FONL
10-010mm ® | 400, 450 , 500 000 %0 o
15-015mm 20 1500 1000 D-FoBL
20-@20mm 25 200, 250, 300, 350, 400, 450, 500, 2000 100 D-Z76L
25-@25mm 32 | 600. 700, 800 2000 1500 D-Z73L
P 40 200, 250, 300, 350, 400, 450, 500 2000 1500 D-280L
oo onom 50 6001 700’ 800’ 900’ 1006 ’ ’ 2000 1500 D-Y59AL
50-050mm 63 Ahaehathand 2000 1500 D-Y59BL
63-063mm 1) R A T
3 2) EMEFF X 7 S B R RIS MR X 2 A 7
SHEBSH ARUERERESN mARAH
06, @10 @50, ®§3 ; TR | RAfE
100 3000 [ o7 () (N
90 b s’,' 6 1.96
8 3 200 T 10 3.90
N
- & 2000 At e 15 9.81
5 60 P - 2 20 10.8
z | ! f Z 1500
s 50 s % 25 11.8
# 40 i 32 14.7
L gk 1000
A 40 19.6
20 = L
L+ 500: 50 24.5
10 L ] 63 29.4
0 0.1020.30.40.50.60.70.80.91.0 0 0.10.20.30.40.50.60.70.80.91.0
BIEE ST (MPa) #EES] (MPa) Z‘@%%E&%j{j}%ﬁ
1200 — 7T - (mm)| ¥EE() (N.m) EH1HT
1100 % = HHHRES | TP 6 73 0.02 100 A ekE
1000 v e S | iR EEIES | SRS : - /v -
900 [ ia (mm) (N) (MPa) (MPa) 10 6.0 0.05 100
800 i ? ?, 26 | CYIR6H | 19.6 0.7 0.55 15 4.5 0.15 200
Z 700r - 210 | CY1R10H | 539 0.7 0.55 20 37 0.20 300
[ 600 215 | CY1R15H | 137.3 0.79 0.65 ’ ’
ﬁt{i 500 #2717 | 020 | CYIR20H | 231 076 0.65 25 3.7 0.25 300
- 4007 g0 | 225 | CY1R25H | 362.8 0.75 0.65 32 3.1 0.40 400
zgg ul ,4"1:“ 032 | CY1R32H | 588.4 0.74 0.65 40 28 0.62 400
—1 i 240 | CY1R40H | 921.8 0.75 0.65
100 1| | 250 | CY1R50H | 1471 0.76 0.65 50 24 1.00 500
0 0.10.20.30.40.50.60.70.80.91.0 263 | CY1R63H | 22555 0.74 0.65 63 2.2 1.37 500
BIEET] (MPa) W) BTEKAEFTE - TEEEN BE -

4.091




HEZEIXTSHE : CYIRET

CY1R6 ~ 63

w K
= | & o——
(:-C) f') . = 7 / >
A SN
1 © i
2-1r g A z
8-MM S5 B M 40B TR Il
H 2-P C Al
er wE
% CB_|_  HA =TT T Y T
Tae
| | w
| e
| ¥ 7
= o 2
of B 8 i | — e f 1 3z
3 & | @
g &
A
g wo K|\ s
HS g —
e Q+1T#2 G
CR HR \ *E Z+7ﬁ’ﬁ
& §+
*(E) CY1R25, 32, 40, 50, 63
S 1752 A B C |[CBICR| D F G |GP|GW| H|HA|HC | HP|HR | HS| HT JXE K
CY1R 6 ~300 9 6.5 | 3.2 2 05| 76| 55 4 20 [18.5| 19 17 18 9 17 6 7 M4 x0.7x6 7
CY1R10 ~500 9 6.5 | 3.2 2 0.5 12 6.5 4 27 [ 25.5| 26 24 25 14 24 5 14 M4 x0.7x6 9
CY1R15 ~1000 10.5 8 4.2 2 0.5 17 5 33 |31.5| 32 30 31 17 30 8.5 17 M5x0.8x7 14
CY1R20 ~1500 9 95 | 5.2 3 1 22.8 6 39 |375| 39 36 38 24 36 | 7.5 24 M6x1x8 11
CY1R25 ~2000 85 |95 | 5.2 3 1 278 | 8.5 6 44 1425 | 44 41 43 1235 41 6.5 | 23.5 M6x1x8 15
CY1R32 ~2000 105 11 6.5 3 1.5 35 | 10.5 7 55 |535| 55 52 54 29 51 7 29 | M8x1.25x 10| 13
CY1R40 ~2000 10 11 6.5 5 2 43 13 7 65 |63.5| 67 62 66 36 62 8 36 | M8x1.25x 10| 15
CY1R50 ~2000 14 14 | 8.2 5 2 53 17 | 8.5 83 |815| 85 80 84 45 80 9 45 | M10x1.5x 15| 25
CY1R63 ~2000 15 14 | 8.2 5 66 18 | 8.5 95 1935 | 97 92 96 51 90 9.5 51 M10x1.5x15| 24

= iT#2 L |LD| M MM N P PW| Q [QW| T | W |WS| X Y 4
CY1R 6 ~300 34 | 35| 35| M3x05| 35 |M5x08| 19 | 64 | 10 [17.5] 20 6 10 [355| 72
CY1R10 ~500 38 | 35| 4 M3x05| 46 | M5x08| 26 | 68 | 14 |175| 20 8 15 [39.5| 76
CY1R15 ~1000 53 | 43| 5 M4x07| 6 |[M5x08| 32 | 84 | 18 | 19 | 25 7 18 [54.5| 94
CY1R20 ~1500 62 | 56 | 5 M4x0.7 | 7 |Rc(PT)%s| 38 | 95 | 17 |20.5| 40 7 |22 | 64 | 107
CY1R25 ~2000 70 | 56 | 6 M5x0.8 | 6.5 | Rc(PT)%s| 43 | 105 | 20 |21.5| 40 7 |28 | 72 | 117
CY1R32 ~2000 76 7 7 M6 x 1 85 [Rc(PT)%s| 54 | 116 | 26 | 24 | 50 7 |13 | 79 | 130
CY1R40 ~2000 90 7 8 M6 x 1 11 |Rc(PT)%| 64 | 134 | 34 | 26 | 60 7 | 40 | 93 | 148
CY1R50 ~2000 | 110 | 86 | 10 |M8x1.25| 15 [Rc(PT)"a| 82 | 159 | 48 | 30 | 60 | 10 | 50 | 113 | 176
CY1R63 ~2000 | 118 | 86 | 10 |M8x1.25| 16 [Rc(PT)"a| 94 | 171 | 60 | 32 | 70 | 10 | 60 | 121 | 188

4.092



HEZEIXTSHE : CYIRET

SMNERSTE (BXK)

BiEER

CY1RG20 ~ 63 l
W K

HC
7
A2
[P
R
X

cB HA 5P
- 4-0B FE# fl
4-JXE HT LD T v 8-MM S5 5 M T cwE
T . HP o
(&R
[T
Hl |
A é ' -@§
- 2 o N _ A x| —— o g I I
] Sl o A@} Y 4@} C, o
1 ©
hY
DU W K]\ mfEksm
s, EE QT G
CR HR Z+1iTHE
(N | —
£ @ @
& ©
- ———
CY1RG25, 32, 40, 50, 63 l
22 2P
14 8 (S
0
> ol
P - -
% 8
______ =
12.5 §§ o.p
(S
CY1RG10 CY1RG15
oS 752 B C |CB|ICR| D F G |GP|GW| H |HA[{HC | HP|HR | HS| HT JXE K
CY1RG10| ~500 |65 (32| 2 |05| 12 |65| 4 | 27 |255| 26 | 24 |25 | - | 24 | 5 - | Maxo07x6 | 9
CY1RG15| ~1000 | 8 |42 | 2 | 05| 17 | 8 5 | 33 |315| 32 | 30 | 31 - |30 |85] - | M5x08x7 | 14
CY1RG20| ~1500 |95 |52 | 3 1 |228]| 9 6 | 39 |375| 39 | 36|38 | 11 |36 | 75| 28 | Mex1x8 | 11
CY1RG25| ~2000 |95 |52 | 3 1 |278| 85| 6 | 44 |425| 44 | 41 | 43 |145| 41 | 65 |335| Mex1x8 | 15
CY1RG32| ~2000 | 11 | 65| 3 | 15| 35 [105| 7 | 55 [535| 55 | 52 | 54 [ 20 | 51 | 7 | 41 [M8x1.25x10| 13
CY1RG40| ~2000 | 11 | 65| 5 2 43| 13| 7 | 65 |635|67 | 62|66 | 25|62 | 8 | 50 [M8x1.25x10| 15
CY1RG50| ~2000 | 14 | 82| 5 53 | 17 | 85| 83 |815| 85 | 80 | 84 | 32 | 80 | 9 | 56 |M10x15x15| 25
CY1RG63| ~2000 | 14 | 82| 5 3 |66 |18 |85 95 (93597 | 92| 9 [ 35| 9 |95 |635[MI0x1.5x15| 24

S i132 L|{LD| M MM N P PW| Q |[QW| T | W |WS| X | Y z
CY1RG10 ~500 38 | 35| 4 | M3x05| 45 | M5x08| 26 | 68 | 14 |175]| 20 8 15 (395 76
CY1RG15| ~1000 53 | 43| 5 M4x07| 6 |M5x08| 32 | 84 | 18 | 19 | 25 7 18 [54.5| 94
CY1RG20| ~1500 62 | 5.6 5 M4x0.7 | 7 |Rc(PT)%| 38 | 95 | 17 |20.5| 40 7 | 22 | 64 | 107
CY1RG25| ~2000 70 | 5.6 6 M5x0.8 | 6.5 | Re(PT)%s| 43 | 105 | 20 |21.5| 40 7 | 28 | 72 | 117
CY1RG32| ~2000 76 7 M6 x 1 8.5 | Rc(PT)% | 54 | 116 | 26 | 24 | 50 7 | 35 | 79 | 130
CY1RG40| ~2000 90 7 8 M6 x 1 11 | Re(PT)Ya| 64 | 134 | 34 | 26 | 60 7 | 40 | 93 | 148
CY1RG50| ~2000 | 110 | 86 | 10 |M8x1.25| 15 |Rc(PT)%| 82 | 159 | 48 | 30 | 60 | 10 | 50 | 113 | 176
CY1RG63| ~2000 | 118 | 86 | 10 |M8x1.25| 16 |Rc(PT)%4| 94 |171| 60 | 32 | 70 | 10 | 60 | 121 | 188

4.093





